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A sample of carbon monoxide gas occupies 3.20 L at 125 oC. At what temperature will
the gas occupy a volume of 1.54 L if the pressure remains constant?
V1/T1 = V2l T2
V1=320L Vo =1541L
1 =398.1@ Ty =72
T1 =125 (0C) + 273.15 (K) = 398.15 K

_V,xT, _1.54)/ x398.15K

T, = =192K
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t=0°C
T=0+273.15=273.15K
P=1 atm
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= =0.082056 litatm mol K™
1molx273.15K
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1 atm = 101325 N m™

11lit=10°m?

R = 0.082056 lit atm mol1 K

R = 0.082056 x107° x m™ x 101325 x N m? x mol'x K™

R =8.314 N m mol”' K’

R =8.314 J mol” K



1cal=4.18 J
R = 1.9872 cal mol” K’
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